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2N

5w %;azﬂg@% SlEt TR &
Chol: OHEEH 012 SREY X CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
LM G Ot2t E2 XY KX 5,339,400 7,037,950 A 1,698,550
= 200,000
Al 5,139,400
Bos SFANES 1,157,400 1,244,000 A 86,600
206 M = Hl 539,000 625,000 A 86,000
01 = bl 539,000 625,000 A 86,000
O Bots &=, otF¥I|, S+ ¢ 300,000
O Bots SJ|7(LED) #¢ 190,000
O Bots €D ¢ 49,000
401 Al HI YL 2 0HHI 618,400 619,000 A 600
01 A& HI 616,000 616,000 0
O 12Y Bots SANEBE=Z2AH(SIIAH ) 88,000
O 23N 2ots SANEEZ2AHEIIH ) 88,000
O 32Y Bots SANEBE=Z2AH(SIIAH ) 88,000
O 43S BoE SANEEZAH(EIFH ) 88,000
O bAY Z2ots SANBLEZAH(EIIH ) 88,000
O TANIASE BoE SAEEZAH(SIIH ) 88,000
O TAN2EYE 2BotE SANEE=ZAH(EIHAH ) 88,000
03 Al 201l 2,400 3,000 A 600
O A&E20HbI 2,400
28 A2 752,400 783,000 A 30,600
206 M = Hl 270,000 300, 000 A 30,000
01 M= bl 270,000 300, 000 A 30,000
O JIZ2E ANES=E X,
o 270,000
401 AIEHIL 20| 482,400 483,000 A 600
01 Al& bl 480,000 480,000 0
O J2s 82 |ANESE ZAH(SIIH ) 88,000
O Asidesxzz ¥ HY, KNotiE B2 A
(SHIFAH ) 88,000
O Jlzs1dy M SAB=SAHSHIHA
o) 88,000
O JIIZS2AY Ma0Id QA Z=ZAH(SIHA
o) 88,000
O HIIEE BEHEIMNA B2 AHSHIIAH) 88,000
O JE2s & i =5 AMEE B 40,000
03 A& 20 Y| 2,400 3,000 A 600
O AME20UHbI 2,400
T2XY KA 2,115,600 2,218,230 A 102,630
201 et A H| 2,109,200 2,210,230 A 101,030
01 AFR2 22l Yl 9,200 10,230 A 1,030




2N
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ral
gz X
Ot
of

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O JJI2(BehHs sXl2el 8,000
OJlgs 822X LI=H S 1,200
02 E2=2=2%H| 2,100,000 2,200,000 A 100,000
O JG2(BehHs 223 2,100,000
202 04d| 6,400 8,000 A 1,600
01 2L HI 6,400 8,000 A 1,600
O EAXY HEFX 6,400
I2E A ALY 551,000 1,751,000 A 1,200,000
401 Al HI L E0HHI 551,000 251,000 300,000
01 Al&H| 550,000 250,000 300,000
O s8Wx=" JIIZ2(BeHE ZEIMA 2 AL 200,000
O g8z 22 & XS Z2A2 JI2(20eH)
S dHIZ2A 350,000
03 AlE 201 Y| 1,000 1,000 0
O AE20HH] 1,000
RS kst AAXTH(CIY) MOUHAIAE REALY 500,000 570,000 A 70,000
= 200,000
Al 300,000
401 Al HI L £ 0HHI 500,000 570,000 70,000
= 200,000
Al 300,000
01 Al& B 500,000 570,000 70,000
O 2SS Yy FAXY(CYIMOALEY 7
EANY 500,000
= 200,000
Al 300,000
BotE AXAY 263,000 371,000 A 108,000
206 M = dl 72,000 80,000 A 8,000
01 X2 HI 72,000 80,000 A 8,000
O Bots AXAMEE #Z otd8I| S XM +#
o 72,000
401 AlEHIZL 2 0HY| 191,000 291,000 A 100,000
01 Al&H| 190,000 290,000 A 100,000
O 128d S8s 20 EXZ2A(SILAHS) 60,000
Q23N S8Hs B0 AXZA(SIIAS) 60,000
O AtDEM & XH Bots X Z2AF 70,000
03 Al& 20| 1,000 1,000 0
O A& 20yl 1,000
MaE ZSIE Qs sYIIBAIE 2= 26,640,260 24,100,310 2,539,950
= 800,000
= 8,286,000
= 2,802,500
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X ZH -
L= B

el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 14,751,760
SHEEZEH LAY 5,454,800 6,511,000 A 1,056,200

= 1,000,000

= 125,000

Al 4,329,800
ESEHECTZ2SET ALY (M A 2,352,000 2,505,000 A 153,000
401 Al B2 2 0HHI 2,352,000 2,505,000 A 153,000
01 Al&H| 2,350,000 2,500,000 A 150,000

O =23 8E 1055 (2HOIS) T2EHETH DA 100,000

O =23 2T 2095 (M A~CH)|) S 2T A2 A 100,000

O =24 el 2065 (Hed~24) T 2EHZ A ZA 150,000

O 38 2l& 212,213 =2 & EZ A Z A} 100,000

O DIMZE HUBESZ(MAIE 123) &2

At 1,500,000

O dKR3IF G202 T 2T EH S A 200,000

O =25 2l% 2038 ST &L ZA 100,000

O =2M 2% 245 (E=S0IE) S2EEIEHZA 100,000
03 A& 2 0HbI 2,000 5,000 A 3,000

O AE20HH] 2,000
UM LA-LHARAN T2 HTEIA 500,800 1,002,000 A501,200
401 AIEHIL 20| 500,800 1,002,000 A501,200
01 A& HI 500,000 1,000,000 500,000

O oI Yo~ A2 T2 E T HZAL 500,000
03 A& 20HH| 800 2,000 A 1,200

O AIE20HHI 800
SHECRHTI AY(S2H) 1,352,000 2,503,000 ~ 1,151,000
401 Al HI YL 2 0HHI 1,352,000 2,503,000 A 1,151,000
01 A& HI 1,350,000 2,500,000 A 1,150,000

O M= S2~URE2 T2 E A 467,000

O M=% 2k 21254 S A DAL 80,000

O o AG~ME Ha2t S 2 ST E T A 80,000

O ol @S~otA2E JIE&EE2 MNWE & &2

At 183,000

O HOF &2t MItE Z At 270,000

O & EA~UHE=S2t T2 ESAM 270,000
03 A& £ HH| 2,000 3,000 A 1,000

O AE20ibI 2,000
DDUPE URER HEANY (2X) 1,250,000 501,000 749,000

hag 1,000,000

= 125,000

Al 125,000
401 Al HIL 200 1,250,000 501,000 749,000
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L= B

el

2 S 4
BBl (3H) - NSAY - 0l &t o il Bl RE2
e 1,000,000
< 125,000
Al 125,000
01 A& HI 1,248,000 500,000 748,000
O D22 W
A 1,248,000
as 1,000,000
< 125,000
Al 123,000
03 A& S THHI 2,000 1,000 1,000
O AIZ 20l 2,000
EHY L SHIEAIE &5 15,793,100 13,508, 170 2,284,930
= 800,000
s 7,286,000
= 1,189,500
Al 6,517,600
st il E0HE 75,000 75,700 A700
< 37,500
Al 37,500
401 AIEHI L 20 75,000 75,700 A700
< 37,500
Al 37,500
01 Al Hl 75,000 75,700 AT00
O NSHAXG ALE 75,000
< 37,500
Al 37,500
[ ZMEOIT(JIHSBRZ)(HEAY) 1,000,000 1,900,000 900,000
403 XIS H S AHE 1,000,000 1,900,000 900,000
02 S| 2 S0l CH &t Xt 1,000,000 1,900,000 900,000
O JIAHstE==Z 1,000,000
T MEOI I} (M & 5 847,500 853,930 AN 6,430
401 A& HIZ 201 8] 847,500 853,930 N 6,430
01 A& HI 846,500 851,430 A 4,930
O B¢ ZH0te &2 §XZE S M 55,000
O 248 AJ[0tS =2 EHHl SAM 39,000
O 38 A0S sti+=2 FHISA 45,000
O 28 B0 stH=2 FHISA 49,000
O ¢ 2302 sti==2 X 2A 33,000
O WY SU0E sH=2 EXSA 28,000
O 2IH M0t =2 ZACIEMEE SA 17,500
O WY Ho0ls stH=2 EX3A 16,000
O Ma=9 AAADS 52 ZHESA 59,000
O AM=8 =202 sti=2 XM 15,000
O M=8 A50tE s2 ZHIA 20,000
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2N
X ZH -
L= B

el

AH
Mpe ZOIE 918 SYIIBAIL RS
SENY U SIPAL BHE

SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 300,000 300,000 0
O SHZitE sti=2 X 3A 100,000
O UW=x=0t= sti=2 &AXI3At 140,000
O 402 sti=2 X 3A 60,000
03 A& =2 THHI 500 1,000 A 500
O AlZ20HhI 500
LELS AN ENL ALY S SHALY 10,000 0 10,000
201 Let24d] 10,000 0 10,000
01 At 22l 10,000 0 10,000
O AZF23t 1HA (KA E10,0008 &) 10,000
LUSMHEMG AIEE FX 22 25,500 50,540 A 25,040
201 LBH2E| 10,000 20,000 A 10,000
02 =224l 10,000 20,000 A 10,000
O LESHAHEAY SSANES 33 10,000
401 AIEHI L 2 CHYI 15,500 30,540 A 15,040
01 A& HI 15,000 30,000 A 15,000
O 2usaHEAY JUIAY AIE2 A2 15,000
03 AlE 2 THHI 500 540 A 40
O AM&ER0Ul 500
ANz &2 st 270,000 0 270,000
s 189,000
Al 81,000
307 glz2+ol & 270,000 0 270,000
s 189,000
Al 81,000
02 QIZtE M AHE X 270,000 0 270,000
O ANz2g9e2st 270,000
s 189,000
Al 81,000
sSESHUNELE(EEXF) - HOFH 1,307,200 1,990,000 A 682,800
s 915,000
< 118,000
Al 274,200
403 A X EHHS =0l A 1,307,200 1,990,000 A 682,800
s 915,000
< 118,000
Al 274,200
02 SO 2SO HSHAHE X 2| &AL H 1,307,200 1,990,000 A 682,800
O UotH sESAXELAEY 1,307,200
as 915,000
< 118,000
Al 274,200




A R =y
Ha: MM ZIIE 98 SAIWAIL 1S
SRl SENY L SYIIAL HE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sSESHNELH (LX) - M=H 1,717,400 2,047,000 A 329,600
s 1,202,000
< 154,000
Al 361,400
403 Mt SHHSA=0l& 1,717,400 2,047,000 A 329,600
s 1,202,000
< 154,000
Al 361,400
02 S 2S0CHEt A = H 2 & AL H 1,717,400 2,047,000 A 329,600
O AN sESHNSHAY 1,717,400
s 1,202,000
< 154,000
Al 361,400
SEZTHNNELS(LXR) - 3lsH 2,032,300 2,030,000 2,300
as 1,423,000
< 183,000
Al 426,300
403 XSS A0l & 2,032,300 2,030,000 2,300
as 1,423,000
< 183,000
Al 426,300
02 S 2SUHHEAEE 2 E A B 2,032,300 2,030,000 2,300
O 38 sESHXNELSAEY 2,032,300
s 1,423,000
< 183,000
Al 426,300
I=daNEsd - 2MY 1,144,200 1,250,000 105,800
s 801,000
< 103,000
Al 240,200
403 A X EHHS =0l A 1,144,200 1,250,000 A 105,800
s 801,000
< 103,000
Al 240,200
02 SO 2SOICHeH A2 X 2 A I 1,144,200 1,250,000 A 105,800
O 2HH JIZMENESLEAY 1,144,200
s 801,000
= 103,000
Al 240,200
I=MENEEY - LIELH 2,009,000 1,094,000 915,000
as 1,406,000
= 181,000
Al 422,000
403 MtXISHHE =01 & 2,009,000 1,094,000 915,000
s 1,406,000
= 181,000
Al 422,000




EXN: A4
Ha: MM BB 918 SYIIBAIL 75
SRl SENY L SYIIAL HE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 BI2SHUSAN2EAEAIS Y 2,009,000 1,094,000 915,000
O L2 JIxMENEKHAY 2,009,000
Fag 1,406,000
o= 181,000
Al 422,000
IZ=MEHESHE - A 1,614,000 400,000 1,214,000
Fag 1,130,000
= 145,000
Al 339,000
403 XX SRS K20| & 1,614,000 400,000 1,214,000
g 1,130,000
= 145,000
Al 339,000
02 2| 2S0UetA=2EEAIS Y 1,614,000 400,000 1,214,000
O MNEHAH JIxMEHERHAIY 1,614,000
g 1,130,000
& 145,000
Al 339,000
SEUSEY - 2RSS (HESAY) 533,000 467,000 66,000
403 XX SHHMS X201 A 533,000 467,000 66,000
02 Z2I)|2SOUeHI =X E A HI 533,000 467,000 66,000
O 273 sE=US2AMNY(HEAY) 533,000
SEUSEY - SHH(FEEAY) 252,000 748,000 A 496,000
403 XX SHHS K20 & 252,000 748,000 A 496,000
02 BI2SHUESX=2EAEAIS Y 252,000 748,000 A 496,000
O =2¢NH S=EUS =SNG (HEAY) 252,000
AASH JIZMEHEZLALS (2EHH) 314,000 0 314,000
Ras 220,000
& 28,000
Al 66,000
403 XX SRS K20l & 314,000 0 314,000
g 220,000
= 28,000
Al 66,000
02 2| 2S0 et A== EAS Y 314,000 0 314,000
O HAtH JZMEBHEZSAY (2CHH) 314,000
= 220,000
= 28,000
Al 66,000
SE dEHE L 2H5HE 8Y 500,000 0 500,000
403 XX SRS K20 & 500,000 0 500,000
02 Z2I)|2SoUetI =& E A HI 500,000 0 500,000
O & ®2)s ¥ #4572 89 500,000
Mol RAE XN E RINFBAAEY 2= 1,041,000 0 1,041,000
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X ZH -
L= B

el

AH
Mpe ZOIE 918 SYIIBAIL RS
SENY U SIPAL BHE

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 800,000
T 240,000
Al 1,000
401 Al HI YL 2 0HHI 1,041,000 0 1,041,000
= 800,000
T 240,000
Al 1,000
01 A& HI 1,040,000 0 1,040,000
O MolHRAE XY ZIBEBAAE 2= 1,040,000
= 800,000
< 240,000
03 A& 20 b 1,000 0 1,000
O AIE20ibI 1,000
SHc2t0t2 Moo StH=Z S At 500,000 0 500,000
401 A EHI L 2O 500,000 0 500,000
01 A& HI 500,000 0 500,000
O g=ct0t2 Mol S22 3 At 500,000
AIBIAIE =S RAE 422 5,392,360 ,081, 140 1,311,220
& 1,488,000
Al 3,904,360
SEIIELAIE EHHIS A 1,400,000 ,000,000 400,000
403 ItXIHAMSA201 & 1,400,000 ,000,000 400,000
02 BII2SHCHSHA 2 2 & A B 1,400,000 ,000,000 400,000
O sZIIBAIE HHIZ2A(sSHES A2 2Y) 1,200,000
O 08 SHI|BIAAE FHIZ2AH(sH=E b
2l7<) 200,000
ATREUSAANY (SENHY) 1,698,000 584,000 114,000
401 AIEHIL 20| 1,698,000 ,584,000 114,000
01 A& bl 1,697,000 ,580,000 117,000
O =272 dHMOt2 stl==2 AE3A 25,000
O =578 =&0t2 st d&E3AM 20,000
O =273 Q402 stl==2 ME3A 10,000
O SRS VENS s2Z T2 Al 45,000
O =24 SHEIOIE 2 & 38 X3 A 60,000
O SHH BAMgE stie2 EX3A 35,000
O SNH ZHOE sti=2 WA S A 16,000
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